

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: December 2, 2024

Progress Estim	nate Number	Contract ID Prime Contractor				Original Contract Amount Net Change Order Amount Current Contract Amount	\$855,044.37 (\$100,471.73) \$754,572.64	
Approval Date							By User	
December 2,	Generated and Approved (and should be considered Draft) at the Project Office Level by							

Approval Date		By User
December 2, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by	milleje
December 2, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	burnsj3
December 3, 2024	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
October 1, 2024	October 1, 2024		74.06%

Cor	ntract Informational	Dates				
Date Description	Original Completion Date	Current Completion Date				
Acceptance Date						
Awarded Date	February 14, 2024	February 14, 2024				
Letting Date	January 19, 2024	January 19, 2024				
Notice to Proceed Date	May 1, 2024	May 1, 2024				
Open to Traffic Date						
Work Began Date	September 26, 2024	September 26, 2024				

Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Milestone - Completion Date	October 1, 2024	October 1, 2024	-63	

Milestones

Contract Total Pay For Estimate No. 5										
		This Estimate	Previous	To Date						
240119-A04										
	Total Posted Items Pay	\$0.00	\$558,846.75	\$558,846.75						
	Gross Item Adjustments	\$0.00	(\$12,846.01)	(\$12,846.01)						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	(\$58,350.00)	(\$58,350.00)						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
			\$487,650.74	\$487,650.74						
Contract Total Pa	yable This Estimate:	\$0.00								

Items Paid This Estimate Period

No Data Available

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available

Page 1 of 8 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	on					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
JNW0101	HSIP 29-2(212)	Pavement marking	I-29, I-229	BUCHANAN	at various locations in the Nortwest District							
Γotals by J	ob Number	s										
JNW0101					This Estimate	Previous	To Date					
		Item Pay			\$0.00	\$558,846.75	\$558,846.75					
	Gross I	tem Adjustme		D	\$0.00	(\$12,846.01)	(\$12,846.01)					
			Gross	Item Pay	\$0.00	\$546,000.74	\$546,000.74					
	Incenti	ve			\$0.00	\$0.00	\$0.00					
	Disince	entive			\$0.00	\$0.00	\$0.00					
		ted Damages			\$0.00	(\$58,350.00)	(\$58,350.00)					
	Other C	Contract Adjus	tments		\$0.00	\$0.00	\$0.00					

Revision 3/23/2023 Page 2 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 240119-A04, Contract Project JNW0101, Project Item Line Number 5003, Contract Line Item Number 5003, Item 6209903, Minor Item.	Awaiting Change Order 0002.	milleje	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-A04, Contract Project JNW0101, Project Item Line Number 5005, Contract Line Item Number 5005, Item 6209903, Minor Item.	Awaiting Change Order 0002.	milleje	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-A04, Contract Project JNW0101, Project Item Line Number 5006, Contract Line Item Number 5006, Item 6209903, Minor Item.	Awaiting Change Order 0002.	milleje	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-A04, Contract Project JNW0101, Project Item Line Number 5008, Contract Line Item Number 5008, Item 6209903, Minor Item.	Awaiting Change Order 0002.	milleje	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-A04, Contract Project JNW0101, Project Item Line Number 5004, Contract Line Item Number 5004, Item 6209903, Minor Item.	Awaiting Change Order 0002.	milleje	Acknowledged

Revision 3/23/2023 Page 3 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)		
240119-A04	JNW0101	0001	0010	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	3.00	0.00	3.00	EA	3.00	\$1,000.00	\$3,000.00		
		0001	0020	6161005	CONSTRUCTION SIGNS	57.00	0.00	57.00	SQFT	57.00	\$25.00	\$1,425.00		
		0001	0030	6161040	FLASHING ARROW PANEL	3.00	0.00	3.00	EA	3.00	\$1,000.00	\$3,000.00		
		0001	0040	6181000	MOBILIZATION	\$135,000.00	\$85,050.00							
		0001	0050	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS									
		0001	0060	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	962,069.00	-926,069.00	36,000.00	LF	0.00	\$0.25	\$0.00		
		0001	0070	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	18,070.00	-18,070.00	0.00	LF	0.00	\$0.79	\$0.00		
		0002	0080	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	109,366.00	-109,366.00	0.00	LF	0.00	\$0.25	\$0.00		
		0002	0090	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	61,526.00	-61,526.00	0.00	LF	0.00	\$0.25	\$0.00		
		0002	0100	6205906A	12 IN, WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	12,970.00	-12,970.00	0.00	LF	0.00	\$0.79	\$0.00		
		0003	0110	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	41,086.00	-41,086.00	0.00	LF	0.00	\$0.25	\$0.00		
		0003	0120	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	24,568.00	-24,568.00	0.00	LF	0.00	\$0.25	\$0.00		
		0003	0130	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	5,100.00	-5,100.00	0.00	LF	0.00	\$0.79	\$0.00		
		0004	0140	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	179,647.00	-179,647.00	0.00	LF	0.00	\$0.25	\$0.00		
		0004	0150	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	N. YELLOW HIGH BUILD WATERBORNE PAVEMENT 147,539.00 -36,884.75 11								
		0004	0160	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	\$0.79	\$0.00							
		0005	0170	6205902A	S IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING 16,112.00 -16,112.00 0.00 LF 0.00 \$0. AINT, TYPE L BEADS IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT 9,175.00 -9,175.00 0.00 LF 0.00 \$0. MARKING PAINT, TYPE L BEADS							\$0.00		
		0005	0180	6205903A								\$0.00		
		0005	0190	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	0.00	LF	0.00	\$0.79	\$0.00				
		0001	5001	6209903	MISC.6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	1,158,286.00	1,158,286.00	LF	1,022,084.00	\$0.20	\$205,438.88		
		0001	5002	6209903	MISC.6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	962,069.00	962,069.00	LF	884,774.00	\$0.20	\$177,839.57		
		0001	5003	6209903	MISC.12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	18,070.00	18,070.00	LF	21,415.00	\$0.69	\$14,819.18		
		0002	5004	6209903	MISC.MISC. 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	109,366.00	109,366.00	LF	135,915.00	\$0.20	\$27,318.92		
		0002	5005	6209903	MISC.6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	61,526.00	61,526.00	LF	74,708.00	\$0.20	\$15,016.31		
		0002	5006	6209903	MISC.12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	12,970.00	12,970.00	LF	16,634.00	\$0.69	\$11,510.73		
		0003	5007	6209903	MISC.6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	41,086.00	41,086.00	LF	34,220.00	\$0.20	\$6,878.22		
		0003	5008	6209903	MISC.6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	24,568.00	24,568.00	LF	24,617.00	\$0.20	\$4,948.02		
		0003	5009	6209903	MISC.12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	5,100.00	5,100.00	LF	3,760.00	\$0.69	\$2,601.92		
		0004	5010	6209903	MISC.6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	179,647.00	179,647.00	LF	0.00	\$0.20	\$0.00		
		0004	5011	6209903	MISC.6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	MISC.6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT 0.00 147,539.00 147,539.00 LF 0.00 \$0.20								
		0004	5012	6209903	MARKING PAINT, P1842 BEADS MISC.12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P1842 BEADS LF 0.00 \$0.69									
		0005	5013	6209903	MISC.6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	16,112.00	16,112.00	LF	0.00	\$0.20	\$0.00		
		0005	5014	6209903	MISC.6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	9,175.00	9,175.00	LF	0.00	\$0.20	\$0.00		
		0005	5015	6209903	MISC.12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, P18+2 BEADS	0.00	5,994.00	5,994.00	LF	0.00	\$0.69	\$0.00		
	Project JN	IW0101 - To	otal Value	Posted to D	Date as of Report Generated Date							\$558,846.75		
240119-A04 Ove	rall - Total	Value Poste	ed to Date	e as of Repo	rt Generated Date							\$558,846.75		

Page 4 of 8 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 5 of 8



Line Item Adjustments by Estimate

Contract ID: 240119-A04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNW0101	0010	TRUCK OR TRAILER	Material		1	Oct 2, 2024	SYSTEM	(\$3,000.00)	
		MOUNTED ATTEN (TMA)			2	Oct 16, 2024	SYSTEM	(\$3,000.00)	
					3	Nov 1, 2024	SYSTEM	(\$3,000.00)	
				- Total				(\$9,000.00)	
			Material - Tota					(\$9,000.00)	
			MaterialCredit		2	Oct 16, 2024	SYSTEM	\$3,000.00	
					3	Nov 1, 2024	SYSTEM	\$3,000.00	
					4	Nov 18, 2024	SYSTEM	\$3,000.00	
				- Total				\$9,000.00	
			MaterialCredit	MaterialCredit - Total					
	0010 -							\$0.00	
	0020	CONSTRUCTION SIGNS	Material		1	Oct 2, 2024	SYSTEM	(\$1,425.00)	
					2	Oct 16, 2024	SYSTEM	(\$1,425.00)	
					3	Nov 1, 2024	SYSTEM	(\$1,425.00)	
				- Total				(\$4,275.00)	
			Material - Tota					(\$4,275.00)	
			MaterialCredit		2	Oct 16, 2024	SYSTEM	\$1,425.00	
					3	Nov 1, 2024	SYSTEM	\$1,425.00	
					4	Nov 18, 2024	SYSTEM	\$1,425.00	
				- Total				\$4,275.00	
			MaterialCredit	- Total				\$4,275.00	
	0020 -							\$0.00	
	0030	FLASHING ARROW PANEL	Material		1	Oct 2, 2024	SYSTEM	(\$3,000.00)	
					2	Oct 16, 2024	SYSTEM	(\$3,000.00)	
					3	Nov 1, 2024	SYSTEM	(\$3,000.00)	
				- Total				(\$9,000.00)	
			Material - Tota		0	0-4-10	OVOTEL	(\$9,000.00)	
			MaterialCredit		2	Oct 16, 2024	SYSTEM	\$3,000.00	
					3	Nov 1, 2024	SYSTEM	\$3,000.00	
				Total	4	Nov 18, 2024	SYSTEM	\$3,000.00	
			MatavialQuartit	- Total				\$9,000.00	
	0030 -	Total	MaterialCredit	Total				\$9,000.00	
	5003	MISC. PAVEMENT	Overrun	Overrun	2	Oct 16, 2024	SYSTEM	\$0.00 (\$2,314.74)	
		MARKINGS		Overrun - To	otal	2024		(\$2,314.74)	
			Overrun - Tota		Jiai				
	5002	Total	Overrun - Tota					(\$2,314.74)	
	5003 - 5004	MISC.	Overrun	Overrun	3	Nov 1,	SYSTEM	(\$2,314.74) (\$5,336.35)	
		PAVEMENT MARKINGS		Overrun - To	otal	2024		(\$5,336.35)	

Dec 4, 2024



Line Item Adjustments by Estimate

Contract ID: 240119-A04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNW0101	5004	MISC. PAVEMENT MARKINGS	Overrun - Tota	ıl				(\$5,336.35)	
	5004 -	- Total						(\$5,336.35)	
	5005	MISC. PAVEMENT MARKINGS	Overrun	Overrun	3	Nov 1, 2024	SYSTEM	(\$2,649.58)	
				Overrun - To	otal			(\$2,649.58)	
			Overrun - Tota	il				(\$2,649.58)	
	5005 -	- Total						(\$2,649.58)	
	5006	MISC. PAVEMENT MARKINGS	Overrun	Overrun	3	Nov 1, 2024	SYSTEM	(\$2,535.49)	
				Overrun - Total				(\$2,535.49)	
			Overrun - Tota	ıl				(\$2,535.49)	
	5006 -	- Total						(\$2,535.49)	
	5008	MISC. PAVEMENT	Overrun	Overrun	3	Nov 1, 2024	SYSTEM	(\$9.85)	
		MARKINGS		Overrun - To	otal			(\$9.85)	
			Overrun - Tota	ıl				(\$9.85)	
	5008 -	- Total						(\$9.85)	
JNW0101	- Total							(\$12,846.01)	
Overall - 1	Total							(\$12,846.01)	



Contract Adjustments for Contract - 240119-A04

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
2	JNW0101	Liquidated Damage		(\$7,500.00)	100	Oct 16, 2024	milleje	Charging liquidated damages administrative costs for 10 days for October 2nd through October 15 on weekdays, not week ends. \$750 per day for a total of \$7,500.
		Liquidated Damage		(\$32,400.00)	100	Oct 16, 2024	milleje	Charging Liquidated damages Road User Costs for 6 days for Working days, non week ends. Road User Costs are accessed at \$5,400 per day for a total of \$32,400. Days Charged are October 2,4,9,11,14, and 15.
2 - Total					(\$39,900.00)			
3	JNW0101	Liquidated Damage		(\$2,250.00)	100	Nov 1, 2024	milleje	Charging Liquidated Damages, Administrative Costs, for October 16, 17, and 18, at a rate of \$750 per day for a total of \$2,250.
		Liquidated Damage		(\$16,200.00)	100	Nov 1, 2024	milleje	Charging Liquidated damages, Road User Costs, for October 16,17, and 18, at a rate of \$5,400 per day for a total of \$16,200.
3 - Total					(\$18,450.00)			
Overall -	Total				(\$58,350.00)			

Revision 3/23/2023 Page 8 of 8